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- foTiep:
28x> — 227x% — 16x + 320 X =57+ 13x— 21
X0+ 9x% + 19x + 35 6x” — 36x
27x> — 285x% + 394x — 144 X =37 +8—6
12x° — 35x° — 9x + 18 X =27 +8—7

2 3
5x° + 25x x~ — 19x+ 30
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- IFGIGE WR:
28x> — 227x% — 16x + 320 X =57+ 13x— 21
(4x — 5)(x — 8)(7x + 8) (x—3)(0% —2x+ 7)
X + 9% + 19x+ 35 6x” — 36x
(x+ 7)(0 + 2x + 5) 6x(x — 6)
27x> — 285x% + 394x — 144 ©—32+8—6
(9x — 8)(x — 9)(3x — 2) (x— )% — 2x+ 6)
12x° — 355" — 9x + 18 X =22 +8x—7
(4x + 3)(x— 3)(3x— 2) x— DEE—x+7)
5x + 25x X — 19x + 30
Sx(x+5) x—2)(x+5x—3)
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